No.03

23 12

540-8586 1-5-44

23 12

@  28° 40°

23 12
12
2 3
5
6
HE =42 hILEE —— Gs KETEE L
12 BB HIEA Myl~My4 2|18
(EH+F) H3-He  TEEBRUMELE
BB e HERE(Bes)
Ob BEE)IE
Yki-Yk2 E)IfE




No.03

MR EHOREBLE
4
3. -2
@
3
-2
120<=
Electron Spin Resonance ESR
ESR
5mm/min
7
4,
@D
a)
@ 1,030m 420m
610m -3
2
2
3
-1
86mm
40 60<
40 50
8 9
0.Imm/min 2
1 55<
2



2HEAOTEEEA s fe e W
? <a‘<\lﬁﬂkl:§§ | HFAEENTZ FEE

A bl
B ms 5 ls  HEEEE

b)
680m 350m
Biff A
-3
3
2
20<
-1
62< )
-4
62= 2 DEIE - WM E AT
CEUERS i T kA EE
N IR
40 60 |s  HAlELEE:

2 ms EEBUE
ss WEEZR
== UZFF2h
T BEE =N,
w3k

-4
c)
850m 600m
460m 3




No.03

ke 5
Is LR

ms EEEDE
ss  HEEDE
= UZTFAUE

238

BIEERD
EMER

BEEO
EMER

R—=y

x

20 33
600
600
2
-3
d)
400m 360m 180m
18<
6 10<
25<
10<
200
27
26<
10 27=
7))
-1
-1
587,600 775,900
=+63,300 =+83,600
1,005,500 1,596,700
=+44,200 =+70,300
225,900 554,200
=+8,700 =+21,400

b
¥
200m
N —
-6
20 50
100 150
®
-2
@ 28° 40°
-7
3 22

26% IP=21 24




No.03

2 2 1400
E
=
No. () -
g GL-18.559 2
G-3 56.520m 311 361 TJ
GL-29.143 ~ 115
G4 61,068 281 320 IE i
GL-21.946 g =
G-5 36.802m 299 359 E N
GL-21.601 E %
G-6 359 393 2 85
47.071m P g
x
100 - g a0
90 LI+ | WL=34.6%,IP=2‘1.3 Z 4 tzt fz
g | = WL=363%IP=230 7.4 £ 1m0
70 L1~ WL=37.3%,1P=23.7 /'/ g Tl rp— Smasoso; = -
N .o
50 .
| / / 200 B E 1)
30 %{'}:ﬁ Tﬁ i
nl ¥ : = _
0 f -100
‘ ‘ ‘ ‘ 300 =
001 001 01 1 10 100 200 | FIEREMZ)
(mm) = 100
E o
-7 3 % oo .
&
*®
=
-8 =
100kPa 0 R )
100
300kN/m? - -
34)(103% 20 22 24 26 28 30 32 M 3@ 3/ 40

B ll(sec x 100

€y



€)

@ 28 40<

28 40=

No.03

TEI OV

LEITavs |

1

2)

3

4)

2003
6)

8)

BN RE

R

28 p.67-76 1986

28 p221 232 1986

u88064 1989

51-5 p4852 1999

1997

51-4 p.21-26 1998

ESR
63

2009 2004

55-6 p.74-77

pp45 2004

Vol.45 No.6 pp.418-427

2003

Vol40 No4 pp.273-282





